Q1=(1/7360) C 1 A Q1 (m3/sec)
C I

(mm/hr) A (ha)
A=1000.00m2=0.100ha

C=0.9

1=75.0mm/hr

Q1=(1/360)x 0.9x 75.0x 0.100=0.0188m3/sec

VP - ¢ 200 1=5.0%0=5.0/1000
Q2=A V Q2 (m3/sec)
A (m2) % (m/sec)
V=1/n RN(2/3) 1"(1/2) n R (m 1
n=0.010

A=0.6735 D"2=0.6735x 0.195472=0.0257m2
P=2.2142 D=2.2142x 0.1954=0.4327m
R=A/P=0.0257/0.4327=0.0594m

V=1/0.010x% 0.05947(2/3)* 0.0050"(1/2)
=100.000x 0.1523x 0.0707=1.0769m/sec

Q2=A V=0.0257x% 1.0769=0.0277m3/sec
Q1=0.0188m3/sec < Q2=0.0277m3/sec 0.K

Amax=360 Q2/(C 1)=360x 0.0277/(0.9%x 75.0)
=0.147696ha =1476.96m2



